





@) 39—t 6y t3y

~39 —F = Gy 2y A/
—3 ) © 6y T & s

Gy T G YT =k




@ —ercie

—'(/)<> /Z/ Jiu)ﬂ lgjawfjcﬁ‘“( 'ﬁ”‘/(
‘_(7/ 7‘(,\/;-7 /L( 4//l)c-‘£~f‘ “PVJ“/(

@ P promebe of © rictend

——

> 74) éf' 7o

grector fhin (00 Conhmebers af LA bid 2 moss
éﬁ /0 (*""’l”’?fﬁ"’i" /""// //7'( /"74)(/ﬂ1uwn

/45');4 { ‘/}L( //fC-?Cdvy/ ’

p=2y 2
/UU < ,2(/)"/’2(/‘))
/Oy = ¢+ Lo

- (X “".—7/5

o *
J{ON,
yo = *

?uf;%—é

S D

e —--'""'---..__

—

Y Cim




/() /\/ Ly 5 '
/ /.)ﬂ_c_ % LAr rn<c fﬁq-fjoe’_s

’(( V’( {L 9
by < Yo =
£ =
4 _(;’f)—(-—ﬁ)
v —(-3)
. =57
—1—F
V7 ¥




Sol— 74 7

9—3 = ~5(x = (7))
Y -3 = TT\7)

i % - —5X — 55
;// —S X — 55 —¢3

o

@ /&-‘:/ —/L( 5/_)/2,(__ p— IML.’M %/}4" c,.{ 7&&
il o hryse f/d,z{_ rs A wmd ThoL /as;«5

%A/dv( 7ZA.4_. /(/rn—/— /5’ /,)

@2 ’\4”\3 /Ouff)-(- < (,..y/ ,/)
)

9= Y, (A=) v
Y (1) = 2 (X — (=5))
V1l = 2 ( X~5)
ij”‘Z(4/°

— VAT = brroel |

Q*\B

 —




@ N
L

X —¢x 3 < A==z

F3) —¢ )3

(“Y(-5) —v(C5)r3 =

g {?, —+3% =

3

@ e fod /@:) Ho) | 3

A -s) - SPELY

e




@ Sulq —/C( S7 slem

S>X-tg T (v

$x— 9 =15
I —F0 < 2y
X =28




@ e /K//Caﬁz‘){f? fd AR
(0= (%) %07+
VC8) < (Z)5) + (F)ry

08) < 6 T Pty
A8 77Fy

@/ o <4 / Vi

/

2 -3’aé-ﬁ Zé —Sa"—5saL +3bs










A A
O (3m,%)_
g
7/"’ Tex Flix 7&/%‘_

¥ o

@@

qﬁ‘f“é) (2& ~+7q+"5) =




O (@'—/O)(C-f/O) -

e

I ——f/u/m/ —/o& 7/
—7/ 00 =

Q\
& dn
/C’[d/ Ouw %Lt_ jral-“s-/— Cum mrvm

S )/fﬁz -







e,

| //@MW(\
AYLE (b))

Or~< /(—f‘({:o
oK /(—f‘(r‘ y O\g{

o -




iJ(%
O (b?%ffﬁ)(s—xhg‘)ro

19 =0 on. SX—6 =6
g’(’(ﬁ/ﬁ/‘— 0= Ok X557 0r¢
f{:—f O) R~ S-J(L—G

¥ p

\___. |




@ Solesie
N
X —/tx ~+35 =0
K =) (x~7)= &
W Y=o Oor  X—)=0
-y = 05" O
A d1

(K—?)(K—N) = O
At Y- = O O A+7 =o
s~ = O~ O X#_}CZ__ T Oy




3 .
X —(lx 27y = o

)(()(2—-—/2)(755?) = O
N (C—3)(x— D=

X~ -f/_: or3 OK A/%T/;%‘a—ff
(D 2=







@ , Sola

X‘f()('fﬁ

(x +§7Q(+}) -

—d A
/(—F} — o
R A+3 =0

7%
g () ()" =
M%((’f&)(z 2) O
9X=0 o
%(, g ot x«l=o QO
2 7
O} —250-C oxf o
X—1-+{=0
7

T DS

e
_h'-"_“"-—-—____________‘_-_‘_




@ Ao Gt ﬂ{ Ay 5//uw-¢ rs [
5@0»‘//( MVI;LS 0 /é‘-*/r( 7[4»( /4:'.1)/4 V//%_S

S///f

A= Lo L]

4~ (X)) X
[/ < 5(/5(/

e
70 /(X—-//:}
== =3 gn  Ixq= 3
NS Rl
LY S
o
. dre = = 9

L"’ o




&
O /,Ws'/(s“ AT
~5 £ X+ < ¢

—s — 5~ '
S X e < oo

/o< r< o

.---"'"..-HFHFH—._







@ ()(’ff)éf 3C
Vot < +2¢

X+7< TG
X+7= —6 ol X+y= 6

teg—6=—63 9° Kot §-3= (T
C haole |
@/’7‘@&’5 J [AN

f’%”‘/‘/"f‘ﬁ’) &34

/ 69@36
r (6 X-c)=J¢
\ 134

(oo




. (—3/47’/0_::
D :
@(ﬁwz)@-r)

/L /775 r-——-‘/(/_,r___
/ﬂ,’ 7

‘::(-—;,}
T o i

|

/MZ—S/“? —o =

é—-"‘g C o
CLC/J 3

b b e
W = —h2

@__3) 2_;\ (} )L—%ﬁ)ﬁ?)
o 2 (/)







O 9//4 X i #4
—f |-G
g = X =7 m@f__li'

//(*’/) 1)1 =2
/(/) (~)//) ] ég]
(/r)'-‘ ( — :F
7[(5}.(6/ [ lr- L i i <
%02"(0)/47 7 R
Aol z 0~ T
/%/0)" _7 \ B
x . /g (,},(’)
AN ()7 . (0,-1)
A0 = (10T 1
A1)

)= (=]
E=




A <— —
(////( (" // )
Vorkiy =

(gx,ﬂ )

P//g< [3 —(3) #—6/3/”)
Vorle - (3 —((3) —+613)~
Virle, (3 -(93—r((3/-r)
(/(’//4< (3 ~9+/f_-r)




